



Nom: _____

Date: _____ Note: _____

$$\left(\frac{1}{2}\right)^3 + \frac{3}{4} =$$

$$\left(\frac{1}{2}\right)^0 + \frac{1}{6} =$$

$$\left(-\frac{1}{3}\right)^0 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{4}\right)^2 - \frac{1}{6} =$$

$$\left(\frac{1}{5}\right)^3 - \frac{3}{4} =$$

$$\left(\frac{1}{2}\right) + \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{6} =$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{5}\right) - \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right) - \frac{2}{5} =$$

$$\left(-\frac{3}{5}\right)^3 + \frac{1}{3} =$$

$$\left(\frac{1}{2}\right)^2 + \frac{3}{4} =$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{6}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{3}{4}\right)^0 - \frac{2}{5} =$$

$$\left(\frac{1}{5}\right) - \frac{1}{4} =$$

$$\left(-\frac{2}{5}\right) + \frac{1}{3} =$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^3 + \frac{1}{2} =$$



Nom: _____

Date: _____ Note: _____

$$\left(\frac{1}{2}\right)^3 + \frac{3}{4} = \frac{7}{8}$$

$$\left(\frac{1}{2}\right)^0 + \frac{1}{6} = \frac{7}{6} = 1\frac{1}{6}$$

$$\left(-\frac{1}{3}\right)^0 - \left(-\frac{1}{3}\right) = \frac{4}{3} = 1\frac{1}{3}$$

$$\left(\frac{1}{4}\right)^2 - \frac{1}{6} = \left(-\frac{5}{48}\right)$$

$$\left(\frac{1}{5}\right)^3 - \frac{3}{4} = \left(-\frac{371}{500}\right)$$

$$\left(\frac{1}{2}\right) + \frac{1}{2} = 1$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{6} = \left(-\frac{7}{24}\right)$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{27}{50}$$

$$\left(\frac{3}{5}\right) - \frac{1}{2} = \frac{1}{10}$$

$$\left(-\frac{1}{2}\right)^3 + \frac{1}{2} = \frac{3}{8}$$

$$\left(-\frac{1}{2}\right) - \frac{2}{5} = \left(-\frac{9}{10}\right)$$

$$\left(-\frac{3}{5}\right)^3 + \frac{1}{3} = \frac{44}{375}$$

$$\left(\frac{1}{2}\right)^2 + \frac{3}{4} = 1$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{1}{2}\right) = \frac{27}{50}$$

$$\left(-\frac{1}{6}\right)^2 - \frac{1}{2} = \left(-\frac{17}{36}\right)$$

$$\left(-\frac{3}{4}\right)^0 - \frac{2}{5} = \frac{3}{5}$$

$$\left(\frac{1}{5}\right) - \frac{1}{4} = \left(-\frac{1}{20}\right)$$

$$\left(-\frac{2}{5}\right) + \frac{1}{3} = \left(-\frac{1}{15}\right)$$

$$\left(-\frac{1}{3}\right)^2 + \frac{1}{2} = \frac{11}{18}$$

$$\left(\frac{2}{5}\right)^3 + \frac{1}{2} = \frac{141}{250}$$